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QUESTION 1

Given the titles of selling prices:

1. Transaction Price 2. Stand Alone '}m:lhr"ug Price [ | 3, Performance Obligation Value -|

and the descriptions concerning selling prices:

A. The allocated price used for revenue
B. The customer facing and invoice price
C. The price you would get for the item if you sold it separately

What is the correct match sequence of the descriptions A, B and C against the titles?
A.B,C A
B.AC,B
C.C,B,A
D.C,A'B
E.A B, C
F.B,AC

Correct Answer: F

QUESTION 2

Which, when transferred to a customer, allows you to recognize revenue?
A. a shipment

B. a performance obligation

C. an invoice

D. promise detail

Correct Answer: B

Reference: https://docs.oracle.com/cloud/r13_updatel7b/financialscs_gs/[FAFRM/FAFRM2462439.htm

QUESTION 3

What does the creation of an allocation allow you to determine?



A. the ability not to revise previously reported revenue for revision, corrections, and other changes

B. the fair value of each performance obligation

C. the maximum amount of revenue you can recognize soonest, postponing the minimum until later

D. an allocation of the expected consideration over the performance obligations as if you had sold them separately
Correct Answer: B

https://docs.oracle.com/cloud/farel12/financialscs_gs/FAOFC/FAOFC2288367.htm

QUESTION 4

You define a Performance Obligation Identification Rule that uses the following matching attribute to group source
document lines:

Extensible Line Character Attribute 7

Based on the data displayed:

Bill To Customer Reference Extensible Line Character Attribute 7 | Extensible Line Character Attribute 8
7394691 Warranty Connectivity Plan 300
7394691 | Device | Connectivity Plan 300
73946591 Device Connectivity Plan 300
7354691 Data Plan Connectivity Plan 300
A 3
B. 4
C.2
D.1

Correct Answer: A

QUESTION 5

In order to have Revenue Management calculate Observed Standalone Selling Prices, four steps must be completed.
Which two are NOT included in the four step process?

A. Close the previous period.

B. Review the calculated OSSP.

C. Categorize standalone sales by performance obligation.

D. Approve the OSSP by establishing it.

E. Run the Calculate Observed Standalone Selling Prices program.



F. Run Create Accounting.

Correct Answer: CE

QUESTION 6

Given Oracle Revenue Management Cloud has predefined integration with Oracle E- Business Suite Financials, which
two steps are NOT part of the steps to configure EBS for integration with Revenue Management Cloud?

A. Apply appropriate patches to EBS.

B. Run the Deploy System Options process.

C. Set the Profile Option AR: Source System Value for Revenue Management.

D. Map the EBS Chart of Accounts to the Cloud General Ledger.

E. Set the System Options in EBS Receivables on the Revenue Management tab.

Correct Answer: BD

QUESTION 7

What is a Performance Obligation?

A. a combination of customer type and product code

B. a product code or SKU

C. a promise to a customer on which either party has acted
D. a promise to a customer

Correct Answer: D

https://docs.oracle.com/cloud/farel12/financialscs_gs/FAIRP/FAIRP2288193.htm#FAIRP24 56627

QUESTION 8

A corporation uses a pricing policy that considers deal size to calculate price per unit for its products. For example:

3 Deal Size Price Per Unit
Less than 550,000 5100.00
Maore than 550,000 585.00

Which Price Band Segment Label would be appropriate to use in this case?

A. Amount Band



B. Deal Size Band
C. Set Band
D. Quantity Band

Correct Answer: A

QUESTION 9

Revenue Management creates journal entries from a contract In order to recognize revenue properly. Which three event
types are used by Revenue Management to create these journal entries?

A. Performance Obligation Satisfied
B. Performance Obligation Billed

C. Initial Performance

D. Revenue Recognized

E. Standalone Selling Prices Allocated

Correct Answer: ACD

QUESTION 10

At which level does Oracle Revenue management perform accounting?
A. Legal entity level

B. Contract level

C. Performance obligation level

Correct Answer: C

QUESTION 11

A pricing dimension segment value combination is one of the factors to determine standalone selling prices. This
combination is based on the pricing dimension assignment setup.

What does the pricing dimension assignment match the pricing dimension segment combination to?
A. pricing bands

B. a pricing dimension structure

C. the source document types

D. a pricing dimension structure instance



Correct Answer: A

QUESTION 12

Given the Standalone Selling Price Profile combines all the key setup attributes of pricing Into one place, you create all
standalone selling prices from the Standalone Selling Price Profiles for all Items or groups of items.

Which three setup attributes are part of a Standalone Selling Price Profile?
A. Observed Standalone Selling Prices

B. Estimated Standalone Selling Prices

C. Pricing Dimension Assignment

D. SSP Tolerance Usage E. Iltems

Correct Answer. ABC
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